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Unit – I: General Science 
Physics 

 
1. When detergent is mixed with water, the dirt from clothes is easily 

removed.  This is due to 
a. Pressure  b. Viscosity  c. Surface tension  d. Force 
ePUld; rpwpJ ryitj;J}s; fye;J Jitj;jhy;> Jzpapy; mOf;F vspjpy; 
mfw;wg;gLk; ,e;j gaDf;F fhuzk; 
a. mOj;jk;  b. ghfpay;  c. gug;G ,Otpir d. tpir 
 

2. The value of acceleration due to gravity from equator to the pole 
a. Increases  b. Decreases c. Constant  d. Zero 
Gtp <h;g;gpd; KLf;fk; epyeLf;Nfhl;Lg; gFjpapypUe;J JUtg; gFjpfspy; 
a. $Lk;  b. FiwAk;  c. khwhJ  d. G+[;[pak; 

 

Chemistry 
 

3. What is the name of cork cambium? 
a. Histogen  b. Tyloses  c. Morphins d. Phellogen 
jf;if Nfk;gpaj;jpd; kW ngau; vd;d? 
a. `p];Nlh[d; b. ilNyh]]; c. khh;gPd;fs; d. ngy;Nyh[d; 
 

4. Calculate the pH of a 5 × 10-3M solution of barium hydroxide Ba (OH2) 

solution at 25°C 5
10(log 0.6990)(Ba(OH)2 is completely ionized) 

a. 3   b. 11  c. 2.301  d. 12 
25°C ntg;gepiy 5×10-3M nrwpTs;s Nghpak; i`l;uhf;i]L (Ba(OH)2 
fiurypd; pH kjpg;G vd;d? 5

10(log 0.6990)  (Ba (OH)2 Kw;wpYk; 

madpahfpd;wJ) 
a. 3   b. 11  c. 2.301  d. 12 
 

5. Who proposed law of octaves while arranging the elements in the periodic 
table? 
a. Lavoisier     b. New Land 

c. Lothar Meyer    d. Mendeleev 
jdpk thpir ml;ltizapy; jdpkq;fs; thpirg;gLj;Jk; NghJ vz;k tpjpia 
Kd;nkhope;jth; ahh;? 
a. ,yhNthrpah;    b. epA yhz;l; 
c. Nyhjh Nkah;    d. nkd;nlNyNat; 
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Bio – Botany 

6. Match the correct pair 
a. Lichen  - Euglena 
b. Algae  - Penicillium 
c. Gymnosperm - Anthoceros 
d. Virus  - Hepatitis – B 
gpd;tUgtdtw;Ws; rhpahd N[hbia Nju;T nra;f. 
a. iyf;nfd;  - A+f;spdh 
b. My;fh   - ngdprpypak; 
c. [pk;Ndh];ngh;k;  - Me;Njhnruh]; 
d. itu];   - n`g;ghl;bb];-B 

 

Bio - Zoology 

 
7. Where the sex chromatin seen in man? 

a. Male  b. Female  c. Both  d. None 
kdpjdpy; ghy;FNuhkhl;bd; ahuplk; fhzg;gLfpwJ? 
a. Mz;  b. ngz;  c. ,UthpYk; d. vthplKk; ,y;iy 
 

8. A cross between F1 hybrid and recessive parent is called 
a. Test cross    b. Back cross 
c. Monohybrid cross   d. Dihybrid cross 
F1 fyg;gpdj;ij xLq;F ngw;NwhUld; fyg;gpdk; nra;tJ ,t;thW 
miof;fg;gLfpwJ. 
a. Nrhjidf; fyg;G    b. gpd; fyg;G 
c. xU gz;Gf; fyg;G    d. ,U gz;Gf; fyg;G 
 

Computer Science 
 

9. The Operating system used in Whatsapp is 
a. Window  b. Free BSD  c. Beam  d. Erlang 
thl;]; Mg;-y; gad;gLj;jg;gLk; ,af;Fk; nkd;nghUs; 
a. Window(tpd;Nlh)   b. Free BSD(/gphp BSD) 
c. Beam(gPk;)    d. Erlang(vu;yhq;) 
 

10. The downloading speed of 5G enabled network is about 
a. 2000 mbs     b. 3000 gigabit per second 
c. 20 gigabit per second  d. 200 gigabit per second 
5 G Vw;G tiy gjptpwf;f NtfkhdJ 
a. 2000 mbs    b. 3000 [pfhgpl;/tpehb 
c. 20 [pfhgpl;/tpehb   d. 200 [pfhgpl;/tpehb 
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Unit – II: Current Affairs 
 

11. Who is the author of a book “The Secret common wealth”? 
a. Vaishali Shroff    b. Philip Pullman 
c. Hans Christiam Andersen  d. Stephen king 
“fhkd;nty;j; ,ufrpak;” vd;w E}ypd; Mrphpah; ahh;? 
a. itrhyp n~u/g;    b. gpypg;Gy;Nkd; 
c. `d;]; fpwp];bad; Mz;lh;rd;  d. ];bgd; fpq; 
 
 

Unit – III: Indian Geography 
 
12. Population density means 

a. No. of persons living below poverty line  
b. No. of persons living per sq.km.  
c. No. of persons in a village 
d. No. of persons living per km. 
kf;fs; mlu;j;jp vd;gJ 

 a. tWikf; Nfhl;bw;Ff; fPo; thOk; egu;fs; vz;zpf;if 
b. xU rJu fp.kP f;F vj;jid egu;fs; tho;fpwhu;fs;  

 c. fpuhkj;jpy; thOk; egu;fspd; vz;zpf;if 
d. xU fp.kP f;F vj;jid egu;fs; tho;fpwhu;fs; 
 

13. Density of population is measured as 
a. Land area/Employment  
b. Land area/ Total population 
c. Total Population/Employment 
d. Total Population/Land area of the region 
kf;fs; njhif mlu;j;jp vd;gJ 
a. epyj;jpd; msT / Ntiy tha;g;G 
b. epyj;jpd; msT / kf;fs; njhif 
c. kf;fs; njhif / Ntiy tha;g;G 
d. kf;fs; njhif / Fwpg;gpl;l epy msT 

 
14. Consider the following statements : The 760 km long Konkan railway passes 

through the following states: 
i. Kerala 
ii. Karnataka 
iii. Goa 
iv. Maharastra 
a. i, ii, iii and iv     b. i and ii 
c. i and iii      d. i, ii and iii are correct 
fPo;fz;l thf;fpaj;ij ftdp: 760 fp.kP ePsKila nfhq;fd; uapy; fPo;fz;l 
ve;j khepyq;fis flf;fpwJ? 
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i. Nfush 
ii. fu;ehlfh 
iii. Nfhth 
iv. kfhuh~;buh 
a. i, ii, iii kw;Wk; iv     b. i kw;Wk; ii 
c. i kw;Wk; iii     d. i, ii kw;Wk; iii rhpahdJ 
 

15. Dilmun has commonly identified with 
a. Afghanistan    b. Island of Bahrain 

c. Khorasan    d. Rajasthan 
jpy;kd; vd;w gFjp nghJthf milahsk; fhzg;gLk; ,lk; 
a. Mg;fhdp];jhd;    b. gf;iudpd; jPT 
c. NfhNuhrd;    d. uh[];jhd; 
 

16. Match the following places with their locations: 
a. National Park  1. Nal sarovar 
b. Wildlife sanctuary 2. Corbett 
c. Bird Sanctuary  3. Sundarbans 
d. Biosphere reserve 4. Bandhi pur 
 a b c d 
A. 3 4 1 2 
B.  2 3 4 1 
C.  2 4 1 3 
D.  4 1 2 3 
gpd;tUk; ,lq;fis mtw;wpd; miktplj;Jld; nghUj;Jf. 
a. Njrpa G+q;fh   1. ey; rNuhth; 
b. tdtpyq;F ruzhyak; 2. Nfhh;ngl; 
c. gwitfs; ruzhyak;  3. Re;ju tdf;fhLfs; 
d. caph;f;Nfhs itg;gplk; 4. ge;jpg;G+h; 
 a b c d 
A. 3 4 1 2 
B.  2 3 4 1 
C.  2 4 1 3 
D.  4 1 2 3 
 

17. Find the correct matching for the given rivers in Column B which drain the 
plateaus in Column A 
A     B 
A. Malwa Plateau  1. Damodar 
B. Chotanagpur Plateau 2. Tapti 
C. Meghalaya Plateau  3. Chambal 
D. Maharashtra Plateau 4. Yamuna 
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 A B C D 
a. 2 3 4 1 
b. 3 1 4 2 
c. 4 3 1 2 
d. 3 2 4 1 
neLthpir A-y; nfhLf;fg;gl;Ls;s ejpfis mitfs; ghAk; neLthpir B –
y; nfhLf;fg;gl;Ls;s gPlG+kpfSld; rhpahf nghUj;Jf. 
A     B 
A. khy;th gPlG+kp   1. jhNkhjh; 
B. Nrhl;lh ehf;G+h; gPlG+kp 2. jhg;jp 
C. Nkfhyah gPlG+kp  3. rk;gy; 
D. kfhuh~;l;uh gPlG+kp  4. aKdh 
 A B C D 
a. 2 3 4 1 
b. 3 1 4 2 
c. 4 3 1 2 
d. 3 2 4 1 
 

18. Where do you find Meso – Thermal Climate in India? 
a. Eastern Ghats    b.  Western Ghats 
c. Gangetic Plain    d. Coromandel coast 
,e;jpahtpy; ,ilepiy ntg;gkz;ly fhyepiy vq;F fhzg;gLfpwJ? 
a. fpof;F njhlh;r;rp kiy  b. Nkw;F njhlh;r;rp kiy 
c. fq;if rkntsp   d. Nfhukz;ly flw;fiu 
 

19. Theppakkadu is familiar for 
a. Deer camp    b. Elephant camp 
c. Tiger camp    d. Wild Dog camp 
njg;gf;fhL vjw;F Gfo;ngw;wJ? 
a. khd;fs; Kfhk;    b. ahidfs; Kfhk; 
c. Gypfs; Kfhk;    d. fhl;L eha;fs; Kfhk; 
 
 

Unit – IV: History and Culture of India 
 

20. Which society transmitted Indian culture to Europe? 
a. Afghani    b. Gujarathi 
c. Parsi    d. Sindhi 
ve;j r%fk; ,e;jpa gz;ghl;bid INuhg;ghtpw;F gug;Gtjw;F tij nra;jJ? 
a. Mg;fhdpah;   b. F[uhj;jpah; 
c. ghh;rpah;    d. rpe;jpah 
 

21. Which was the primary factor for Buddhism to become popular? 
a. It boosted cattle wealth 
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b. It emphasisal non-violence 
c. It created the field of intellect and culture 
d. It was inclusive of women and lower section of society 
ngsj;jk; Gfo;ngWtjw;F Kjd;ik fhuzpaha; mike;j fUj;J vJ? 
a. mJ Nkopr;nry;tj;ijg; Nghw;wpaJ 
b. mJ m`pk;iriag; Nghw;wpaJ 
c. mJ mwpTrhh; gz;ghl;il cUthf;fpaJ 
d. mJ ngz;fsplk; mbj;jl;L r%fj;jpidAk; Nrh;j;Jf;nfhz;lJ 
 

22. Which one of the statement is incorrect regarding the Guptas? 
a. Coins depicts the figures of Chandragupta and Kumara devi 
b. Harisena was one of the important officers of Chandragupta 
c. Samudragupta inscription found in Ashoka Pillar at Allahabad 
d. Inscription from Iran reveals the information of Samudragupta 
Fg;jh;fis gw;wpa $w;Wfspy; jtwhd thf;fpak; vJ? 
a. ehzaq;fspy; re;jpuFg;jh; FkhuNjtp cUtq;fs; fhzg;gLfpwJ 
b. `hpNrdu; re;jpuFg;jupd; Kf;fpa mYth; Mthh; 
c. rKj;jpu Fg;jhpd; fy;ntl;L myfhghj; mNrhfu; J}z; fy;ntl;by; 
fhzg;gLfpwJ. 
d. <uhd; fy;ntl;L rKj;jpuFg;jiu gw;wp njhptpf;fpd;wJ. 

 
Unit – V: Indian Polity 

 
23. What is the Ideology of oriental despotism? 

a. Changing society    b. Democracy 
c. Oligarchy     d. Unchanging society 
fPioj;Nja ty;yhl;rp vd;gjd; fUj;jpay; vd;d? 
a. khWk; r%fk;     b. kf;fshl;rp 
c. FO Ml;rp     d. khwhj r%fk; 
 

24. Who coined the term „Lok Pal‟? 
a. Laxmi Mall Singhvi   b. Gandhi 
c. Jawaharlal Nehru   d. Pylee 
„Nyhf; ghy;‟ vDk; $w;iw Kjd;Kjypy; cUthf;fpath; ahh;? 
a. ny~;kp khy; rpq;tp   b. fhe;jp 
c. [t`h;yhy; NeU   d. igyp 
 

25. The Election Commission has become at three member body from the year  
a. 1991  b. 1992  c. 1990  d. 1993 
Nju;jy; Mizak; ve;j Mz;bypUe;J %d;W mq;fj;jpdh; mikg;ghdJ 
a. 1991  b. 1992  c. 1990  d. 1993 
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26. National Judicial Appointment commission act was passed on 
a. 31st December 2014    b. 1st December 2014 
c. 2nd December 2014    d. 3rd December 2014 
Njrpa ePjpj;Jiw epakd Mizar; rl;lk; ,aw;wg;gl;lJ 
a. 31 brk;gu; 2014    b. 1 brk;gu; 2014 
c. 2 brk;gu; 2014    d. 3 brk;gu; 2014 
 

27. The Governor of state is appointed by 
a. The President      b. Prime Minister 
c. Chief Minister     d. Supreme Court Judge 
khepy MSeu; epakdj;ij nra;gth; 
a. FbauRj; jiytu;    b. gpujkh;  
c. Kjy;th;      d. cr;rePjpkd;w ePjpgjp 
 

28. The Cabinet Secretariat was created in India in the year 
a. 1947  b. 1951  c. 1950  d. 1952 
,e;jpahtpy; Nfgpdl; nrayfk; ____ Mz;L cUthf;fg;gl;lJ. 
a. 1947  b. 1951  c. 1950  d. 1952 
 

29. According to which of the following articles free and compulsory education 
for all children upto the age of 14 years is provided 
a. Article 25 b. Article 14 c. Article 40 d. Article 45 
fPo;fhZk; ve;j ~uj;jpd; gb 14 taJf;Fl;gl;l Foe;ijfSf;F ,ytr 
kw;Wk; fl;lha fy;tp toq;fg;gLfpwJ. 
a. ~uj;J 25 b. ~uj;J 14 c. ~uj;J 40 d. ~uj;J 45 
 

30. Which part of Indian Constitution contains Fundamental Rights? 
a. Part I  b. Part II  c. Part III  d. Part IV 
,e;jpa murpayikg;gpd; ve;jg; gFjpapy; mbg;gil chpikfs; ,lk; 
ngw;Ws;sd? 
a. gFjp I  b. gFjp II  c. gFjp III  d. gFjp IV 
 

31. It took ____ to draft and enact the Indian Constitution 
a. 2 years, 11 months, 17 days b. 2 years, 9 months, 15 days 
c. 2 years, 8 months, 10 days  d. 2 years, 7 months, 8 days 
,e;jpa murpayikg;G ,aw;wg;gLtjw;F vj;jid Mz;Lfs; vLj;Jf; 
nfhs;sg;gl;ld? 
a. 2 Mz;Lfs;> 11 khjq;fs;? 17 ehl;fs; 
b. 3 Mz;Lfs;> 9 khjq;fs;> 15 ehl;fs; 
c. 2 Mz;Lfs;> 8 khjq;fs;> 10 ehl;fs; 
d. 2 Mz;lfs;> 7 khjq;fs;> 8 ehl;fs; 
 

32. In Indian Constitution „Secular State‟ Mean 
1. State Protects all religion equally 
2. State shall not uphold any religion as the State religion 
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3. Secularism is the basic structure of the Indian Constitution 
4. State neglect all religions 
a. 1, 2 are correct – 3, 4 are incorrect 
b. 2, 3 are correct – 1, 4 are incorrect 
c. 1, 2, 3 are correct 4, only incorrect 
d. 4 only correct, 1, 2, 3 are incorrect 
,e;jpa murpayikg;gpy; rka rhh;gw;w thh;j;ijapd; mh;j;jk; vd;d? 
1. muR midj;J kjq;fis fhf;fpd;wJ 
2. ve;j muRk; ve;j kjj;ijAk; jdpahf cah;j;jf;$lhJ 
3. rka rhh;gw;w vd;w nrhy; murpayikg;gpd; mbg;gil MFk;. 
4. muR midj;J kjq;fisAk; Gwf;fzpf;fpwJ 
a. 1> 2 rhp – 3> 4 jtW   b. 2> 3 rhp – 1> 4 jtW 
c. 1> 2> 3 rhp – 4 kl;Lk; jtW  d. 4 kl;Lk; rhp> 1> 2> 3 jtW 

 
Unit – VI: Indian Economy 

 
33. Which of the following measures have been taken to attain the aims of the 

new industrial policy 
1. Industrial Licensing 
2. Foreign Investment 
3. Foreign Trade Policy 
4. Public Sector Management 
a. 1 and 4 only    b. 2 and 3 only   
c. 1, 2 and 4 only    d. 1, 2, 3 and 4 
fPo;fz;ltw;Ws; Gjpa njhopw;nfhs;ifapd; Nehf;fq;fis miltjw;F 
Nkw;nfhs;sg;gl;l Kiwfs; ahit? 
1. njhopy; chpkk; 
2. may;ehl;L KjyPL 
3. may;ehl;L thzpgf; nfhs;if 
4. nghJ Jiw eph;thfk; 
a. 1 kw;Wk; 4 kl;Lk;    b. 2 kw;Wk; 3 kl;Lk; 
c. 1> 2 kw;Wk; 4 kl;Lk;    d. 1> 2> 3 kw;Wk; 4 
 

34. In which of the following year, all tax revenues of centre have become 
shareable among the centre and states 
a. 2000 AD  b. 2003 AD  c. 2007 AD  d. 1998 AD 
fPNo nfhLf;fg;gl;l Mz;by; midj;J thp tUthAk; ikak; kw;Wk; 
khepyq;fspilNa gfpuf;$bajhfp tpl;lJ 
a. 2000 AD  b. 2003 AD  c. 2007 AD  d. 1998 AD 
 
 

35. Which of the following knowledge can a farmer gain from “Farmers” Field 
School being run by Department of Agriculture and Co-operation, 
Government of India? 
A. Methods and Practices for soil, fertilizer and crop management 
B. How to get bank loans 
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C. Understand deficiency symptoms of soil nutrients 
a. Only A  b. Only B  c. Only C  d. Both A and C 
gpd;tUtdtw;Ws; kj;jpa murpd; Ntshz; kw;Wk; $l;LwTj;Jiwahy; 
elj;jg;gLk; “tptrhapfs; fsg; gs;sp” %yk; xU tptrhap vj;jifa 
mwptpidg; ngw KbAk; 
A. kz;> cuk; kw;Wk; gapu; Nkyhz;ik gw;wpa Kiwfs; kw;Wk; gapw;rp 
B. tq;fpf; flid vg;gbg; ngw KbAnkd;w tptuk; 
C. epyts gw;whf;Fiwf;fhd mwpFwpfisg; GhpAk; mwpT 
a. A kl;Lk;  b. B kl;Lk;  c. C kl;Lk;  d. A kw;Wk; B 
 

36. The Instruments of monetary policy are 
I. Bank rate 
II. Tax rate 
III. Cash reserve ratio 
a. I alone is correct   b. I and II are correct 
c. I and III are correct   d. I, II and III are correct 
gzf; nfhs;ifapd; fUtpfs; 
I. tq;fp tpfpjk; 
II. thp tpfpjk; 
III. nuhf;f ,Ug;G tpfpjk;  
a. I kl;Lk; rhp    b. I kw;Wk; II kl;Lk; rhp 
c. I kw;Wk; III kl;Lk; rhp   d. I, II kw;Wk; III kl;Lk; rhp 
 

37. Which of the following are denotes the meaning of Goods and Services Tax? 
1. It is a consolidated indirect tax 
2. It is a single unified tax 
3. It is imposed only by Central Government 
4. it is payable at final point of consumption 
a. 1 and 3 only    b. 1, 2 and 3 only 
c. 2, 3 and 4 only    d. 1, 2 and 4 only 
fPo;fz;ltw;Ws; nghUl;fs; kw;Wk; Nritfs; thp vd;gjd; nghUs; ahit? 
1. ,J kiwKf thpapd; njhFg;ghFk; 
2. xNu khjphpahd jdp thpahFk; 
3. kj;jpa murhy; kl;LNk tpjpf;fg;gLtjhFk; 
4. Efu;T ,Wjpg; Gs;spapy; nrYj;jtjhFk; 
a. 1 kw;Wk; 3 kl;Lk;   b. 1> 2 kw;Wk; 3 kl;Lk; 
c. 2> 3 kw;Wk; 4 kl;Lk;   d. 1> 2 kw;Wk; 4 kl;Lk; 
 

38. Tenth Five year plan period was 
a. 1992-1997   b. 2002-2007 

c. 2007-2012   d. 1997-2002 
gj;jhtJ Ie;jhz;Lj; jpl;lf; fhyk; 
a. 1992-1997   b. 2002-2007 
c. 2007-2012   d. 1997-2002 
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39. Match the List I with List II and select the correct answer the using the codes 
given below: 
List I    List II 
A. Mentor India 1. To promote innovation and entrepreneurship 
B. PMMVY  2. To provide banking and insurance services to rural the  

poor 
C. SBGY  3. For providing free LPG connections to women from BPL  

households 
D. PMUY  4. To improve pregnant women health 
 A B C D 
a. 4 3 2 1 
b. 2 4 3 1 
c. 1 4 2 3 
d. 3 1 4 2 
gl;bay; I kw;Wk; gl;bay; II I nghUj;jp fPNo nfhLf;fg;gl;Ls;s rhpahd 
tpilai Njh;T nra;f : 
gl;bay; I  gl;bay; II 
A. Mentor India 1. njhopy; KidT kw;Wk; Gj;jhf;fj;ij Nkk;gLj;Jjy; 
B. PMMVY  2. fpuhkGw ViofSf;F tq;fp kw;Wk; fhg;gPl;L Nritfis  

mspj;jy; 
C. SBGY  3. BPL ,y;yq;fspypUe;J ,ytr LPG ,izg;gpid  

ngz;fSf;F toq;Fjy; 
D. PMUY  4. fUTw;w jha;khh;fspd; eyed Nkk;gLj;Jjy; 
 A B C D 
a. 4 3 2 1 
b. 2 4 3 1 
c. 1 4 2 3 
d. 3 1 4 2 
 

40. When did Unique Identification Authority of India (UIDAI) established? 
a. 2001  b. 2005  c. 2008  d. 2009 
,e;jpahtpy; rPuhd milahsk; fhZk; Mizak; vg;NghJ njhlq;fg;gl;lJ? 
a. 2001  b. 2005  c. 2008  d. 2009 
 

41. Which sector has the maximum level of disguised unemployment in India? 
a. Agriculture b. Industry  c. Trade  d. Transport 
,e;jpahtpy; mjpf msT kiwKf Ntiyapd;ik epyTk; Jiw vJ? 
a. Ntshz;ik b. njhopy;  c. thzpgk;  d. Nghf;Ftuj;J 
 

42. Match: 
List I    List II 
A. GATT  1. Managing balance of Payments 
B. IMF  2. Development Finance 
C. IBRD  3. Free trade 
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D. UNO  4. Maintenance of peace among nations 
  A B C D 
a.  2 1 4 3 
b.  3 1 2 4 
c.   2 3 1 4 
d.  4 1 3 2 
nghUj;Jf 
gl;bay; I    gl;bay; II 
A. fhl;   1. nfhLg;gitfis rkepiyg;gLj;Jjy; 
B. I.vk;.vg;   2. tsu;r;rp epjp 
C. I.gp.Mh;.b  3. Rje;jpu tu;j;jfk; 
D. A.vd;.X   4. ehLfspilNa mikjpia NgZjy; 
  A B C D 
a.  2 1 4 3 
b.  3 1 2 4 
c.   2 3 1 4 
d.  4 1 3 2 
 

 

Unit – VII: Indian National Movement 
 

43. In March 1947, Mountbatten replaced________as Viceroy of India. 
a. Irwin  b. Attlee  c. Wavell  d. Cripps 
1947 khh;r;-y; kTz;l;Ngl;ld; vd;gtUf;F khw;whf ,e;jpa itrpuhahf 
nghWg;Ngw;whh;. 
a. ,h;tpd;  b. ml;yp  c. Ntty;  d. fphpg;]; 
 

44. What event was mainly responsible for Nehru to participate in extreme 
politics? 
a. Chauri Chaura incident   b. Swadeshi movement 
c. Non-Co-operation movement  d. Jallian Wala Bagh tragedy 
Njrpa jPtpu murpaypy; <Lgl fhuzkhd Kf;fpa epfo;;r;rp vJ? 
a. nrsup nrsuh epfo;r;rp   b. RNjrp ,af;fk; 
c. xj;Jioahik ,af;fk;   d. [hypad; thyh ghf; Jauk; 
 

45. Who was the king of England when collector Ash murdered by Vanjinathan 
Maniyatchi? 
a. George – VI b. George – V  c. George – IV d.  George – III 
kzpahr;rpapy; thQ;rpehjd; khtl;l Ml;rpau; Mi~ Rl;Lf; nfhd;w NghJ 
,q;fpyhe;J kd;duhf ,Ue;jtu; ahu;? 
a. Mwhk; [hu;[;    b. Ie;jhk; [hu;[;  
c. ehd;fhk; [hu;[;    d. %d;whk; [hu;[; 
 

46. While Subhash studying in school, he was influence by the teachings of  
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a. Vivekananda    b. Ramakrishna 
c. Lord Buddha    d. Aurobindo Ghosh 
Rgh~; gs;spapy; gbf;fpd;w fhyj;jpy; ___ Nghjidfshy; mjpfk; ftug;gl;lhu;. 
a. tpNtfhde;jh;    b. ,uhkfpU~;zh; 
c. ,iw Gj;jh;    d. mugpe;Njh Nfh~; 
 

47. Which one was welcomed by the moderates as Magna Carta of India? 
a. August Declaration, 1917   b. Indian councils Act, 1909 
c. Government of India Act, 1919  d. Government of India Act, 1935 
,e;jpahtpd; „khf;dfhh;l;lh‟ vd kpjthjpfshy; tuNtw;fg;gl;l xd;W vJ? 
a. Mf];l; gpufldk;> 1917   b. ,e;jpa fTd;rpy; rl;lk;> 1909 
c. ,e;jpa murhq;fr; rl;lk;> 1919  d. ,e;jpa murhq;fr; rl;lk;> 1935 
 

48. Give the correct chronological order. 
I. Revolt of Mangal Pandey 
II. Vellore Mutiny 
III. Defeat of Jhansi Rani 
IV. Mutiny at Meerut 
a. IV,I,II,III   b. II,IV,I,III 
c. I,IV,III,II   d. II,I,IV,III 
rhpahd fhy thpiria jUf. 
I. kq;fs; ghz;Nlapd; fyfk; 
II. NtY}h; fyfk; 
III. [hd;rp uhzpapd; Njhy;tp 
IV. kPul;by; fyfk; 
a. IV,I,II,III   b. II,IV,I,III 
c. I,IV,III,II   d. II,I,IV,III 

 

Unit – VIII: History, Culture, Heritage and Socio – 
Political movements in Tamilnadu 

 
49. Which one of the following is called as the tallest Gopura in South Asia? 

a. Meenakshi Amman temple Gopura 
b. Sri Villiputhur Andal temple Gopura 
c. Arulmighu Aranganathar temple Gopura 
d. Nellaiappar temple Gopura 
fPo;tUtdtw;Ws; njw;F Mrpahtpd; kpf cau;e;j NfhGuk; vd miof;fg;gLk; 
xd;W vJ? 
a. kPdhl;rp mk;kd; Nfhapy; NfhGuk; 
b. = tpy;ypGj;J}h; Mz;lhs; Nfhapy; NfhGuk; 
c. mUs;kpF muq;fehju; Nfhapy; NfhGuk; 
d. ney;iyag;gh; Nfhapy; NfhGuk; 
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50. When did Periyar Organize the Self-Respect Movement? 
a. 1926  b. 1925  c. 1928  d. 1927 
ngupahu; Rakupahij ,af;fj;ij vg;NghJ njhlq;fpdhu;? 
a. 1926  b. 1925  c. 1928  d. 1927 
 

51. Where was the Fourth District Self-Respect conference held in 1943? 
a. Salem  b. Kumbakonam  c. Erode d. Tirunelveli 
Rakupahij ,af;fj;jpd; ehd;fhtJ khtl;l khehL 1943-y; vq;F ele;jJ? 

 a. Nryk;  b. Fk;gNfhzk;  c. <NuhL d. jpUney;Ntyp 
 

52. In which year election, the Justice Party secured a majority and formed the 
ministry for the first time? 
a. 1922  b. 1921  c. 1920  d. 1919 
Kjd; Kjyhf ve;j Mz;L ePjpf;fl;rp ngUk;ghd;ik ntw;wp ngw;W ke;jpup 
rigia mikj;jJ? 
a. 1922  b. 1921  c. 1920  d. 1919 
 

53. Which English General was defeated by Pulithevan 
a. General Watson   b. General MaCalay 
c. General Shephered   d. General Alexander Heran 
G+ypj;Njtdhy; Njhw;fg;gl;l Mq;fpy jsgjp ahh;? 
a. n[duy; thl;rd;   b. n[duy; nkf;fhNy  
c. n[duy; n~g;gh;L   d. n[duy; mnyf;rhz;lh; n`uhd;  
 

54. Which one is the correct statement 
1. The relation between the Portuguese and Vijayanagar began in the 

region of Krishnadevaraa. 
2. Vaskate II received a letter form Philip II king of Spain for protection 

of trade. 
3. Atonia Cabral met Akbar at Surat. 
4. Akbar dispatched an embassy to Philip II and the leather Portugal 

1582 
a. 1, 2, 3 are correct 4 only incorrect b. 1, 2 are correct 3, 4 are incorrect 
c. 2, 3, 4 are correct 1 is incorrect  d. 3 only correct 1, 2, 4 are incorrect 
fPo;fz;l $w;Wfspy; rhpahdJ vJ? 
1. Nghu;r;RfPrpaUf;Fk; tp[aefu muRf;Fk; fpU~;zNjtuhah; fhyj;jpy; 

cwTfs; njhlq;fpaJ. 
2. ,uz;lhk; Nt];flh; ];ngapd; kd;dd; ,uz;lhk; gpypg;gplk; ,Ue;J 

thzpg eyd; fbjq;fis ngw;whh;. 
3. mNlhdpah> Nfguy; mf;giu #uj;jpy; re;jpj;jhu;. 
4. mf;gu; ,uz;lhk; gpypg;gpw;F J}J FO xd;iw mDg;gp mj;J}Jf;FO 

1582y; Nghh;r;Rfis mile;jJ. 
a. 1> 2> 3 rhp 4 jtwhdJ    
b. 1> 2 rhp 3> 4 jtwhdJ 
c. 2> 3> 4 rhpahdJ 1 kl;Lk; jtwhdJ  
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d. 3 kl;Lk; rhpahdJ 1> 2> 4 jtwhdJ 
 

55. Who was responsible for the security of the village under the Marathas in 
South India? 
a. Desmukh b. Faujtar  c. Kotwal  d. Patil 
njd;dpe;jpahtpy; kuhl;bah; fhyj;jpy; fpuhkj;jpid ghJfhg;gJ ahh; nghWg;G? 
a. Nj~;Kf;  b. gG[;jhu;  c. nfhj;thy;  d. gl;by; 
 

56. Out of the following, which group does not fall under the category of 
Dravidas Family? 
a. Kota  b. Badaga  c. Yarava  d. Kanauri 
gpd;tUtdtw;Ws; ve;j FO jpuhtplf; FLk;gj;jpd; fPo; tuhJ? 
a. Nfhl;lh  b. glhfh  c. ahuth  d. fdTup 
 

57. The war of Noses took place during the reign of 
a. Thirumalai Nayak   b. Sevappa Nayak 
c. Ranimangammal   d. Chokkanatha Nayak  
%f;fWg;G Nghu; ahUila Ml;rp fhyj;jpy; eilngw;wJ? 
a. jpUkzk; ehaf;fu;   b. Nrtg;g ehaf;fu; 
c. uhzpkq;fk;khs;    d. nrhf;fehj ehaf;fu; 
 

58. The stalward among the congressmen became the Chief Minister of Madras 
in the first ministry from 1937 to 1939 
a. P. Subbarayan     b. P.S. Kumaraswami Raja 
c. C. Rajaji     d. S. Srinivasa 
gyKs;s fhq;fpu];thjpfspy; 1937 Kjy; 1939 Mz;L tiu nkluh]pd; 
Kjy; mikr;ruitapd; Kjyikr;ru; 
a. gp. Rg;guhad;    b. gp.v];. Fkhuhrhkp uh[h 
c. rp. uh[h[p    d. v];. rPdpthrh 
 

59. Periyar was imprisoned by which Government for Vaikkom Satyagraha in 
1924? 
a. Travancore Government   b. Hydrabad Nizam Government 
c. Mysore Government  d. Mangalore Government 
1924-k; Mz;L eilngw;w itf;fk; rj;ahfpuf Nghuhl;lj;jpdhy; ngupahiu 
ifJ nra;j muR vJ? 
a. jpUthq;$u; muR   b. i`juhghj; ep[hk; muR 
c. ik#u; muR    d. kq;fSu; muR 
 

60. The mode of revenue collection was known as the ryotwari system which 
was Innovation of 
a. William Bentinck    b. Lord Curson 
c. Wallesley     d. Sir Thomas Monroe 
tupt#ypf;Fk; topKiwia uhaj;thupapy; GFj;jpatu; 
a. tpy;ypak; ngd;bq;    b. ru; gpuG fh;rd; 
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c. nty;ny];yp     d. ru; jhk]; kd;Nuh 
 

61. According to Valluvar, in which way, a man should speak in day life? 
Which statement is correct? 
a. Sweet speech with cheerful countenance 
b. To say disagreeable things when agreeable are at hand, is like eating 

unripe fruit when there is ripe 
c. When does he use harsh words who sees the pleasure which sweet 

speech gives 
d. Sweet speech will give pleasure both in this world and in the next 
vt;thW md;whl tho;f;ifapy; xUtd; Ngr Ntz;Lnkd;W ts;Sth; 
$Wfpwhh;? ve;j $w;W rhpahdJ? 
a. ,dpa nrhy;Ny cs;sd;Gld;  $WtNj mwk; 
b. ,d;nrhy; Ngrhky; fLQ;nrhw; $Wjy; goj;ijj; jpd;dhky; fhiaj; 

jpd;gJ NghyhFk;. 
c. ,d;nrhy; ,d;gj;ijj; jUtijf; fz;Lk; fLQ;nrhy; NgRtJ Vd;? 
d. ,dpa nrhw;fs; ,Ugpwg;gpYk; ,d;ge;jUk; 

 
62. In 1912, who translated „Bhagavatgithai‟ into Tamil? 

a. Bharathiyar     b. Subramania Siva 
c. V. Ramalingam    d. V.O. Chidambaram 
1912-k; Mz;L “gftj;fPij” ia jkpopy; nkhop ngau;j;J ntspapl;ltu; ahu;? 
a. ghujpahu;      b. Rg;gpukzpa rpth 
c. nt. uhkypq;fk;     d. t.c. rpjk;guk; 
 

63. St. Ramalingar concept of Karunai was based on concept of 
a. the unity of mankind    b. Help to others 
c. Service       d. Idea of peace 
Gdpj ,uhkypq;fupd; fUiz vd;w Nfhl;ghL ,jid mbg;gilahf 
nfhz;bUe;jJ  
a. Md;kNea xUikg;ghL mikjp  b. gpwUf;F cjTjy; 
c. Nrit      d. vd;w fUj;J 
 

64. Which of the following councils were assisted the Sangam rulers? 
a. Ashtathik – Kajas and Ashtrapradhans  
b. Aimperum Kuzhu and Enperayam 
c. Sabha and Samithi 
d. Ur and Mantram 
fPo;tUk; mitfspy; rq;f fhy kd;du;fSf;F cjtpaitfs; ahit? 
a. m~;ljpf;f[q;fs; kw;Wk; m~;lgpujhd; 
b. Ik;ngUq;FO kw;Wk; vz;Nguhak; 
c. rgh kw;Wk; rkpjp 
d. Cu; kw;Wk; kd;wk; 
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65. The garland of the Chera‟s was 
a. Margosa flower      b. Leocas flower 
c. Palmyra flower    d. Fig flower 
Nruu;fspd; milahs khiy 
a. Ntg;gk;G+  b. Jk;igg;G+  c. gdk;G+  d. mj;jpg;G+ 
 

66. During the Sangam age, in which place Roman coins were minted? 
a. Korkai     b. Puhar 
c. Adichanallur    d. Arikkamedu 
rq;f fhyj;jpy; ve;j ,lj;jpy; Nuhkdpa ehzaq;fs; fz;lgpbf;fg;gl;lJ? 
a. nfhw;if     b. Gfhu; 
c. Mjpr;rey;Y}u;    d. mupf;fNkL 
 

67. Which place the Dravida Sangha of Deccan was founded in the year 470 
A.D.? 
a. Brahma giri    b. Madurai 
c. Kanchipuram    d. Mysore  
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fp.gp. 470-k; Mz;L jf;fhz jpuhtpl rq;fk; vq;F epWtg;gl;lJ? 
a. gpuk;k fphp b. kJiu   c.  fhQ;rpGuk; d.  ik#u;  
 

68. Which one of the following was not written by V.O. Chidambaram? 
a. Suryodayam     b. Meyiaram 
c. Meyarivu     d. Padal thirattu 
fPo;fz;litfspy; t.c. rpjk;guk; mtu;fshy; vOjg;glhj xd;W vJ? 
a. #upNahjak;    b. nka;awk; 
c. nka;awpT     d. ghly; jpul;L 

 

 

Unit – IX: Development  Administration in Tamilnadu 
 

69. Annual survey of Industries (2011-12) released by Central Statistical 
Organisation (CSO) had revealed that the ___ state registered 
manufacturing industries units occupied the first position among the major 
industrial states. 
a. West Bengal  b. Maharashtra c. Tamil Nadu d. Karnataka 
kj;jpa Gs;spapay; mikg;ghy; elj;jg;gLk; tUlhe;jpu njhopy; mwpf;if 
(2011-12) –d; gb ,e;jpahtpy; gjpT nra;ag;gl;l cw;gj;jp nra;ag;gLk; 
njhopw;rhiyfspy; Kjy; ,lj;ijg; gpbj;Js;s khepyk; vJ? 
a. Nkw;F tq;fk;  b. kfhuh~;l;uh c. jkpo;ehL d. fu;ehlfh  
 

70. In 2012-13, Tamil Nadu State share in total All Indian Cement Production 
was ___. 
a. 11.00 percent  b. 09.00 percent c. 10.00 percent d. 15.00 percent 
2012-13 Mk; Mz;by; ,e;jpahtpy; rpnjz;l; cw;gj;jpapy; jkpo;ehl;bd; gq;F 

 a. 11 rjtpfpjk;  b. 9 rjtpfpjk; c. 10 rjtpfpjk; d. 15 rjtpfpjk; 
 

71. The Human Development Index is a composite index encompassing three 
are dimensions of human development. 
a. Health, Education and Income 
b. Reproductive Health, Empowerment and labour market 
c. Health, Education and Poverty 
d. Health, Education and Irrigation 
kdpj Nkk;ghl;L ml;ltiz xU fyit ml;ltiz NkYk; %d;W 
ghpkhzq;fis cs;slf;fpaJ. 
a. cly; eyk;> fy;tp kw;Wk; tUkhdk; 
b. ,dg;ngUf;f MNuhf;fpak;> mjpfhukspj;jy; kw;Wk; Ntiytha;g;G re;ij 
c. MNuhf;fpak;> fy;tp kw;Wk; tWik 
d. MNuhf;fpak;> fy;tp kw;Wk; ePu;ghrdk; 
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72. Which of the following Magazine has given 4 awards to Tamil Nadu in 
2019? 
a. India Today    b. Tamilarasu 
c. Outlook     d. Front line 
2019-Mk; Mz;L fPo;f;fz;l ve;j ,jo; ehd;F tpUJfis jkpo;ehl;bw;F 
toq;fpaJ? 
a. ,e;jpah LNl    b. jkpouR  
c. mTl;Yf;     d. gpuhd;liyd; 
 

73. How much of gold for „Mangalyam‟ of unmarried poor women distributed 
at present by Tamilnadu government? 
a. 8 gm  b. 10 gm   c. 4 gm  d. 12 gm 
jpUkzk; Mfhj Vio ngz;fSf;F “jhypf;F jq;fk;” jw;NghJ jkpo;ehL 
murhq;fj;jhy; jq;fj;jpd; msT vt;tsT? 
a. 8 fpuhk;  b. 10 fpuhk;  c. 4 fpuhk;  d. 12 fpuhk; 
 

74. Transplant Authority of Tamil Nadu (TRANSTAN) was created in the year 
a. 2018  b. 2019  c. 2014  d. 2016 
jkpo;ehL kdpj cWg;G khw;W Mizahy; njhlq;fg;gl;l tUlk; 
a. 2018  b. 2019  c. 2014  d. 2016 
 

75. What type of water bodies has the problem of Salinity in Tamilnadu? 
a. Pond water b. River water c. Canal water d. Ground water 
jkpo;ehl;bd; ve;j tifahd ePu; epiy cg;Gj;jd;ik nfhz;l gpur;ridahf 
a. Fsk; ePu;  b. ejp ePu;  c. fhy;tha; ePu;   d. epyj;jb ePu; 
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UNIT – X: Mental Ability  
Stepwise Solution 

 
1. If V is the volume of the cone of radius r and V1 is the volume of the cone 

when the radius is double then 
a. V = 4V1  b. V = 2V1  c. V1 = 2V  d. V1 = 4V 

$k;gpd; Muk; „r‟ vd;why; mjd; fd msT „V‟ MFk; $k;gpd; Muj;ij 
,ul;bj;jhy; mjd; fdmsT V1 MFk;. mt;thnwd;why;. 
a. V = 4V1  b. V = 2V1  c. V1 = 2V  d. V1 = 4V 
Explanation: 

 21
V= πr h

3
 

 If radius is doubled the volume of cone is V1. 

 

 
2

1

2

1

1

1
V = π 2r h

3

1
V =4× πr h

3

V =4×V

 

  

2. Base area of the right circular cylinder is 30 sq.cm and its height is 6 cm then 
the volume of the cylinder is 
a. 60 cu.cm  b. 90 cu.cm  c. 120 cu.cm d. 180 cu.cm 
xU Neu; tl;l cUisapd; mbg;gug;G 30 nr.kP kw;Wk; mjd; cauk; 6 nr.kP 
vdpy; mjd; fdmsT ahJ? 
a. 60 f.m  b. 90 f.m  c. 120 f.m  d. 180 f.m 
Explanation: 

 

2 2 2

3

V=πr h πr 30 6

V 30 6 180

cm h cm

cm

 

  
 

3. A type of bacteria grows. It increases at 5% in 1st hour, decreases at 8% in 2nd 
hour and again increases at 10% in 3rd hour. Find the number of bacteria at 
the end of 3rd hour if there were 10,000 in the beginning. 
a. 10626  b. 10266  c. 10622  d. 11626 
xU tif ghf;Bhpah KjyhtJ xU kzp Neuj;jpy; 5% tsh;r;rpAk;> 
,uz;lhtJ xU kzp Neuj;jpy; 8% tsu;r;rp Fd;wpAk;> %d;whtJ xU kzp 
Neuj;jpy; 10% tsu;r;rpAk; milfpwJ. Kjypy; mjd; vz;zpf;if 10>000 Mf 
,Ue;jnjdpy;> %d;W kzp Neuj;jpw;Fg; gpwF mjd; vz;zpf;ifiaf; fhz;f. 
a. 10626  b. 10266  c. 10622  d. 11626 
Explanation: 

105 92 110
10000 10,626

100 100 100

     
        
     
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4. By selling 5 articles, a man gains the C.P of 1 article, his gain percentage is  
a. 25%  b. 20%  c. 50%  d. 5% 
5 nghUl;fis tpw;gjhy;> xU egUf;F xU nghUspd; mlf;f tpiyahdJ 
,yhgkhff; fpilf;fpwJ vdpy; ,yhg rjtPjk; 
a. 25%  b. 20%  c. 50%  d. 5% 
Explanation: 

 S.P = C.P + P 

 S.P of 5 Articles = C.P of 5 Articles + C.P of 1 Article 

 C.P of 6 Articles = S.P of 5 Articles  

 
5

6

CP

SP
  

 
1

% 100 20%
5

P     

5. The sum of a number its reciprocal is 
65

8
 then the number is 

a. 6   b. 8   c. 9   d. 65 

xU vz; kw;Wk; mjd; jiyfPopapd; $Ljy; 
65

8
 vdpy; me;j vz; ahJ? 

a. 6   b. 8   c. 9   d. 65 
Explanation: 

 Solve from option 

 if x = 8 then 
1 1

8x
  

 

1 1
8

8

65

8

x
x

  



 

or 
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6. The value of (13 + 23 + …. + 153) – (1 + 2 + …. + 15) 

a. 14400  b. 14200  c. 14280  d. 14520 
(13 + 23 + …. + 153) – (1 + 2 + …. + 15) d; kjpg;G 
a. 14400  b. 14200  c. 14280  d. 14520 
Explanation: 

   

   

2

2

2

1 1

2 2

15 16 15 16

2 2

120 120

14400 120

14280

n n n n    
    
   

    
    
   

 

 



 

 
7. If + stands for ×, - stands for ÷, x stands for – and ÷ stands for + there 25 + 32 

- 4 × 12 ÷ 3 
a. 137   b. -125  c. 191   d. -197 
+ vd;gJ ×, - vd;gJ ÷, × vd;gJ – kw;Wk; ÷ vd;gJ + Fwpj;jhy; 25 + 32 – 4 
× 12 ÷ 3 vd;gJ 
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a. 137   b. -125  c. 191   d. -197 
Explanation: 

32
25 12 3

4

25 8 12 3

200 9 191

   

   

  

 

 
8. Find the largest ratio among 

4 : 5, 8 : 15, 3 : 10, 1 : 2 
a. 4 : 5  b. 8 : 15  c. 3 : 10  d. 1 : 2 
fPo;f;fhZk; tpfpjq;fspy; kpfg;nghpaJ vJ? 
4 : 5, 8 : 15, 3 : 10, 1 : 2 
a. 4 : 5  b. 8 : 15  c. 3 : 10  d. 1 : 2 
Explanation: 

 
4 7 28 8 3 1 7 7

5 7 35 15 10 2 7 14
     

 If difference between Numerator and Denominator are same. Then Least is Least 
 Fraction. Greatest is Greatest Fraction. 

 Hence, 
28 4

or isgreatest
35 5

. 

 
9. 21 : x = y : 25 = 9 : 15 

Value of x, y = ____, ____ respectively 
a. 25, 15  b. 35, 10  c. 35, 15  d. 15, 9 
x, y –d; kjpg;G KiwNa ____, ____ MFk;. 
a. 25, 15  b. 35, 10  c. 35, 15  d. 15, 9 
Explanation: 
21 9 21 15

35
15 9

9 9 25
15

25 15 15

x
x

y
y


   


   

 

 
10. LCM of two numbers is six times their HCF. If HCF is 12 and one number is 

36 find the other number 
a. 48   b. 36   c. 24   d. 12 
,U vz;fspd; kP.rpk MdJ kP.ng.fh.apd; 6 klq;fhFk; kP.ngh.fh 12 kw;Wk; 
Xh; vz; 36 vdpy; kw;nwhU vz;izf; fhz;f. 
a. 48   b. 36   c. 24   d. 12 
Explanation: 
 

 Product of two numbers (a×b) = H.C.F × L.C.M 
 One of the numbers is,  a=36. 
 Also, H.C.F = 12  and  L.C.M= 6 × H.C.F = 6×12 = 72. 
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 We need to find the value of 'b'. 
 Now, applying the above rule, we have 

  
 

 
11. A sum of money invested at compound interest amount to Rs. 800 in 3 years 

and to 840 in 4 years. Find the rate of interest per annum? 

a. 2
1

2
%  b. 4%  c. 5%  d. 6

2

3
% 

&. 800 I $l;L tl;b tPjk; 3 Mz;LfSf;Fk;> &. 840 I 4 Mz;LfSf;Fk; 
xU tq;fpapy; nrYj;jpdhy; fpilf;Fk; tl;b tPjk; vt;tsT? 

a. 2
1

2
%  b. 4%  c. 5%  d. 6

2

3
% 

Explanation: 
40

R%= 100 5% .
800

p a   

 
12. Find the principal if the difference between compound interest and simple 

interest on it at 15% per annum for 3 years is Rs. 1134 
a. ` 12, 000×  b. ` 16,000  c. ` 8,000  d. ` 6,000 
15% Mz;L tl;bapy;> 3 Mz;LfSf;F fpilj;j jdp tl;bf;Fk; $l;L 
tl;bf;Fk; ,ilapy; cs;s tpj;jpahrk; ` 1134 vdpy; mriyf; fhz;f. 
a. ` 12, 000×  b. ` 16,000  c. ` 8,000  d. ` 6,000 

 

 

 

3

2

3

100

300

1134 100

15 15 315

16,000

Difference
P

R R

P

P









 



 

 
13. What will be the duplicate ratio of 2 : 7? 

a. 4 : 49  b. 49 : 4  c. 4 : 14  d. 8 : 343 
2 : 7 –d; ,Ugb tpfpjk; vd;dthf ,Uf;Fk;? 
a. 4 : 49  b. 49 : 4  c. 4 : 14  d. 8 : 343 

Required duplicate ratio of 
2 : 7 = 22 : 72 = 4 : 49 
 
 

14. HCF and LCM of two numbers are 2 and 154 respectively.  If the difference 
between them in 8 find the sum of the two numbers. 
a. 36  b. 26  c. 56  d. 46 
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,U vz;fspd; kP.ngh.fh 2 kw;Wk; mtw;wpd; kP.rp.k 154 mt;tpU 
vz;fSf;fpilNa cs;s NtWghL 8 vdpy; mtw;wpd; $Ljy; vd;d? 
a. 36  b. 26  c. 56  d. 46 
Explanation: 

   

   

2 2

2

4

8 4 2 154

64 1232 1296

1296 36

x y x y xy

x y

   

   

  

  

 

 

15. Multiply 
3 3

2 22

a b

a ab b



 
 by 

2 2a b

a b




 

a. a2- ab +b2  b. a3 + b3  c. a2 + ab + b2 d. a3 – b3 
3 3

2 22

a b

a ab b



 
I 

2 2a b

a b




 My; ngUf;f fpilg;gJ 

a. a2- ab +b2  b. a3 + b3  c. a2 + ab + b2 d. a3 – b3 
Explanation: 

     

   
 

 


  

     
  

  

3 3 2 2

2 2

2 2

2 2

2

2

2

a b a b

a ab b a b

a b a ab b a b a b
a ab b

a b a b

 

 
16. A and B together can complete in 12 days, B and C together can complete in 

15 days, C and A together can complete in 20 days A, B and C together can 
complete in  
a. 10 days  b. 12 days  c. 14 days  d. 15 days 
A kw;Wk; B ,UtUk; xU Ntiyia 12 ehl;fspy; nra;J Kbg;gh; B kw;Wk; C 
mNj Ntiyia 15 ehl;fspy; Kbg;gh;. C kw;Wk; A mNj Ntiyia 20 
ehl;fspy; Kbg;gh; vdpy; A, B kw;Wk; C %tUk; Nru;e;J mt;Ntiyia Kbf;f 
Njitg;gLk; ehl;fs;. 
a. 10 ehl;fs; b. 12 ehl;fs; c. 14 ehl;fs; d. 15 ehl;fs; 
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17. If 9 Spiders make 9 web in 9 days, then 1 Spider will make 1 web in how 
many days? 
a. 1 day  b. 9 days  c. 18 days  d. 12 days 
9 rpye;jpfs; 9 tiyia 9 ehl;fspy; gpd;DfpwJ vdpy; 1 rpye;jp 1 
tiyia vj;jid ehspy; gpd;Dk;? 
a. 1 ehs;  b. 9 ehl;fs;  c. 18 ehl;fs; d. 12 ehl;fs; 
Explanation: 
9 9 1

9
9 1

D
Days

 
    

 

18. If a2 + b2 = 234 and ab = 108 then find the value of 
a b

a b




 

a. 10   b. 8   c. 5   d. 4 

a2 + b2 = 234 kw;Wk; ab = 108 vdpy; 
a b

a b




 -d; kjpg;igf; fhz;f. 

a. 10   b. 8   c. 5   d. 4 
Explanation: 

 
 

19. 8 
1

2
 metres is what percent of 11 

1

3
 metres? 

a. 60%  b. 72%  c. 75%  d. 68% 

8 
1

2
 kPl;lh; vd;gJ 11 

1

3
 kPl;lhpy; vj;jid rjtPjk;? 

a. 60%  b. 72%  c. 75%  d. 68% 
Explanation: 
 

8 
1 17

2 2
  11 

1 34

3 3
 

Required Percentage = 
17 3

100 75%
2 34
    

 
20. If the total surface area of a cube is 486 cm2 then find the lateral surfaces area 

and volume respectively 
a. 729 cm2, 324 cm2   b. 324 cm3, 729 cm2 
c. 324 cm2, 729 cm3   d. 729 cm3, 324 cm2 
xU fsr;rJuj;jpd; nkhj;j Gwg;gug;G 486 nr.kP vdpy; mjd; gf;fg; gug;Gk; 
fd msTk; KiwNa ___ , ____ MFk;. 
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a. 729 nr.kP2> 324 nr.kP2  b. 324 nr.kP3> 729 nr.kP2 
c. 324 nr.kP2> 729 nr.kP2  d. 729 nr.kP3> 324 nr.kP2 

 
 Volume = 3 39 729cm  

 
21. The ratio of radii of two spheres are 4 : 7 then the ratio of their volumes 

a. 4 : 7  b. 64 : 49  c. 16 : 49  d. 64 : 343 
,U Nfhsq;fspd; Muq;fspd; tpfpjk; 4 : 7 vdpy; fd msTfspd; tpfpjk;  
a. 4 : 7  b. 64 : 49  c. 16 : 49  d. 64 : 343 
Explanation: 

   

3 3

1 2

3 3

4 4
:

3 3

4 : 7

64 : 343

r r 

 

 
22. What is the 8th term of a G.P whose 6th term is 972 and the common ratio is 3 

a. 2916  b. 3888  c. 5832  d. 8748 

xU G.P.d; 6th cWg;G 972 kw;Wk; mjd; nghJ tpfpjk; 3 vdpy; 8th cWg;G 
a. 2916  b. 3888  c. 5832  d. 8748 
Explanation: 

1

6 1

6

5

8 1

8

7

3

3 972

3 972

972
4

243

4 3

4 3

4 2187

8748

n

n

r

t ar

t a

a

a

t











  

  

  

 

 

 


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23. Find the missing number in the following sequences. 22,32,52,72,…….132 
a.92   b. 102   c. 112   d. 84 
gpd;tUk; njhlh; thpirapy; tpLgl;l vz;izf; fhz;f. 22,32,52,72,…….132 

a.92   b. 102   c. 112   d. 84 
Explanation: 
Square of Prime Number series 
2, 3, 5, 7, 11, 13 
Missing Number = 112 
 

24.  If CLASSIC  can be written as XOZHHRX then CHILD can be written as 
a.  XSROW  b. XSROV  c. XSROU  d. SXROW 
CLASSIC vd;gij XOZHHRX vd vOjpdhy; CHILD vd;gij vt;thW 
vOjyhk;? 
a.  XSROW  b. XSROV  c. XSROU  d. SXROW 
Explanation: 
Each letter in the word is replaced by the letter which occupies the same 
position from the other end of the alphabet, to obtain the code. 
C X

L O

A Z

S H

S H

I R

C X















    

C X

H S

I R

L O

D W











 

  

25. If “NGCH” stand for “LEAF”, then “MPQY” stands for 
a. JMNV  b. KNOW  c. LOPX  d. KOWN 
“NGCH” vd;w thh;j;ij “LEAF” vd;w thh;j;ijia Fwpj;jhy;> “MPQY” 
vd;w nrhw;nwhlu; Fwpf;Fk; nrhw;nwhlh;. 
a. JMNV  b. KNOW  c. LOPX  d. KOWN 
Explanation: 
Each letter is decreased by two. 
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